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Fs s 5 *h R 4%
1 B i 5°q AH 95.33
2 X 3 i RF 94
3 & i A 93
4 AN =TT 524 K& 91. 67
5 KEH g A F 91. 33
6 JE 5% 9 i RH 90
7 oh 4 i 528 RH 89. 33
8 JE i 574 K& 89
9 5K R AE 5 K% 88. 5
10 X & 528 K& 87. 5
11 KW 7 RE 87. 33
12 w5 578 K& 87
13 F CH i K% 86. 5
14 R 524 K& 85
15 K3 528 R 85
16 g AL 7 RE 84.5
17 5K % 5°q RE 83. 67
18 2K T 4 KE 83. 33
19 F % 58 RE 83
20 3 7% = K& 8. 5




21 AEE 5°q A 82. 33
22 SRR 5°e K& 82
23 Fa = K& 81. 67
24 R E 5°q RE 80
25 &% 578 A& 80
26 Fw7 7 RE 79
27 X| 7 5 K% 79
28 Ik i K& 74.33
29 R ik 3% 7 AE 73
30 Kig % 5°q K& 73
31 i 3% 58 RE 73
32 VN 58 K& 72.67
33 OF] 3t 5°e K& 72
34 FH 58 K& 70. 33
35 KB & K% 70
36 TF& 5°q A& 69. 33
37 %45 B2 7 RE 66. 67
38 R 5°q A% 62
39 kEZ 528 R 60
40 B fH 5°q K& 60




